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1.

Important Instructions for the Candidates :

This Test Booklet contains 50 questions printed in English and
Hindi. Out of these, the candidate is required to answer any
40 questions. If a candidate answers more than 40 questions,
the first 40 answered questions will be considered for
evaluation.

When you are given the OMR Answer Sheet, fill in your
particulars on it carefully with blue/black ball point pen only.
Use only Blue/Black Ball Point Pen for marking responses.
The CODE for this Test Booklet is A. Make sure that the
CODE printed on the OMR Answer Sheet is the same as that
on this Test Booklet. Also ensure that your Test Booklet No.
and OMR Answer Sheet No. are exactly the same. In case of
discrepancy, the candidate should immediately report the
matter to the Invigilator for replacement of both the Test
Booklet and the OMR Answer Sheet. No claim in this regard
will be entertained after five minutes from the start of the
examination.

Before attempting the question paper kindly check that this
Test Booklet has total 28 pages and OMR Answer Sheet
consists of one sheet. At the start of the examination within
first five minutes, candidates are advised to ensure that all
pages of Test Booklet and OMR Answer Sheet are properly
printed and they are not damaged in any manner.

Each question has four answer options. Out of these four
options choose the MOST APPROPRIATE OPTION and
darken/blacken the corresponding circle on the OMR Answer
Sheet with a Blue/Black Ball Point Pen.

Five (5) marks will be given for each correct answer. One (1)
mark will be deducted for each incorrect answer. If more than
one circle is found darkened/blackened for a question, then it
will be considered as an incorrect answer. Unanswered
questions will be given no mark. P.TO.
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313 EH/A (2)

1.

Which of the following is a land-locked harbour ?
(1) Paradwip port

(2) Tuticorin port

(3) Haldia port

(4) Visakhapatnam port

Which of the following ports is confronted with the problem of silt accumulation ?
(1) Mumbai port (2) New Mangalore port
(3) Kolkata port (4) Paradwip port

Where is the headquarter of the ‘Organisation of the Petroleum Exporting Countries’ (OPEC) ?
(1) Montevideo (2) Vienna
(3) Minsk (4) Aden

The General Agreement on Tariffs and Trade (GATT) was transformed into the World Trade Organization

m

Fill in the blank with the correct option.
(1) 1995 (2) 1991
(3) 2005 4) 1976

Pykara Hydroelectric Plant was built in

Fill in the blank with the correct option.

(1) 1929 (2) 1931
(3) 1932 (4) 1942
The total utilisable water resources in India is about cubic km.

Fill in the blank with the correct option.
(1) 4,000 (2) 1,969
(3) 1,869 4 1,122

The first radio programme was broadcast in India in

Fill in the blank with the correct option.
(1) 1910 (2) 1913
(3) 1923 (4) 1932
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313 EH/A (3)

1.

frfaRad # & -1 T -3¢ T © ?

(1) IREY 9a9

(2) TR o=

(3) wfcgar o=

(4) TowmEmeT g

fefafaa & @ F9-91 0T e SHT I ST HHEIT T JEAT R 2
(1) e o (2) = HTEAR T
(3) hICTehIdT IeH (4) URET g
UgIToT farfaeh S31 §IET (HTUe) 3 TEATerd el (6o 8 ?

(1) wieshfear @) T

(3) fo=eh (4) ¥

ST e 3 2T de 2R (AT Yo ST SR T T 99Eian) (GATT)
STIR TS | sIae faam mam o |

Tk T T Tt forsheq o o |

(1) 1995 (2) 1991
(3) 2005 4) 1976
TR STe-forggd | T ST AT T |

T T ol el oo & o |

(1) 1929 (2) 1931
(3) 1932 (4) 1942
I H ST AT i S ST T REREX IS
T T ol el oo & o |

(1) 4,000 (2) 1,969
(3) 1,869 4) 1,122
A ST UEAT LASAT SHIRIHH T i foham T o |
T T ol et forshed & ot |

(1) 1910 (2) 1913
(3) 1923 (4) 1932

T fag
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313 EH/A (4)

8.  Canberra was planned by

Fill in the blank with the correct option.
(1) Patrick Geddes (2) Walter Burley Griffin
(3) Jean Gottmann (4) George Zipf

9.  Match List-I with List-11I :

List-I
(Approaches in Human

List-II

(Broad features)
Geography)

(A)  Areal Differentiati (D Identifying the uniqueness of any region and
real Differentiation
understanding how and why it is different

(B) Spatial Organisation (ID  Application of quantitative techniques in Geography

(C) Behavi | School (III) Discontent with quantitative revolution and its
ehavioural Schoo
dehumanized manner of doing Geography

(D) Post-modernism (IV) Focus on local context

Choose the correct answer from the options given below :
(D) (A=, B) -1, (C)—dID), (D) - (IV)
2) (A)-D, ®B)— 1), (C) - (1D, (D) - (IV)
3) (A =@, (B) =D, (C) - (AV), (D) - (1)
(4) (A)-(ID), (B) - V), (C) - (1), (D) — (IT)

10. Identify from the following, the correct statements with reference to the characteristics of intensive
subsistence agriculture dominated by wet paddy cultivation.

(A) Land holdings are very small due to the high density of population.

(B) Farmers work with the help of family labour leading to intensive use of land.
(C) Farm yard manure is used to maintain the fertility of the soil.

(D) The yield per unit area is low, but productivity per labour is high.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only

(2) (A), (C) and (D) only

(3) (A), (B) and (C) only

(4) (B), (C) and (D) only
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8.

10.

EZEUNEIRISE ECUCEIERERIT
T T =l W oo & oK |
(1) ufewew (2) AT STt Tl
(3) SATiesT (4) St fsTo
FEft-1 1 -1 o | frer i
-1 TEi-11
(ATE I o IUTTH) (T TTEA0T)
(A) &t favea (1) ot oft wew St forereqorar <t v AT TR 9 TmeT 6
TE Y I AT AT R
(B) TR @ireA (1) SFIIA 5 HATCHe qehriIeh] T IANT
(C) SaEHETE! foemym (IIT)  ATATCHS 3hifel S I8eh ST qoh & YT o 3TEA o
(D) ST-IATYRATETE (V) T He W &I hisd T

< o T et & & S

(1) (A)~ (1), (B) (1D, (©) ~ (I, (D) - (IV)
@) (A)~ (D)., (B) (1), (©) — (D), (D) - (IV)
() (A)~ (D). (B) - (), (©) ~ (V). (D) ~ (Il
() (A)- (1), (B) - (IV), (C) ~ (1), (D) ~ (1D

TS =Tt Wt e Fyat i o Rrsrearett & wat & Frefra § & wet ot B vea i |
(A) SIEEAT % Ioel e o 1T i S T SATHR S5 BT 2 |

(B) Torem wifiaiiar 2 ot 7aS & M d © ISTael 0 1 TTe ST giar < |

(C) RIS 3 e it WTe Uel & @Te 1 ST firgh ot el s W o fore fopar sman 2 |
(D) 9fd 3oTE &1 T U Y &, ifeh Ut 21fieh Seargahat M 2 |

e fow e o & vt SE T -

(1) e (A), (B) 3R (D)

(2) Fd (A), (C) 3R (D)

(3) Fd (A), (B) 3R (C)

(4) % (B), (C) R (D)
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11.

12.

13.

Arrange the following agricultural regions from equator to pole :

(A) Commercial grain farming in the Prairies

(B) Reindeer rearing by the Eskimos

(C) Tea plantations of north-east India

(D) Primitive subsistence farming in Indonesia

Choose the correct answer from the options given below :

(1) (©), (D), (A), (B) (2) (D), (C), (A), (B)
(3) (D), (), (B), (A) 4 (O), (D), (B), (A)

Arrange the following as per the stages of demographic transition model :
(A) Population growth is slow due to high birth and high death rate.

(B) Fertility remains high, but mortality declines at a faster pace.

(C) Fertility declines at a faster pace, but mortality declines gradually.
(D) Population growth is slow due to low birth and low death rate.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) ) (A), (©), (B), (D)
3) (D), (B),(C), (A) 4) (D), (C), (B), (A)
Match List-I with List-II :
List-I List-11
(Station) (Trans-Continental Railway)
(A) Chita (I)  Australian Trans-Continental Railway
(B) Winnipeg (I)  Union Pacific Railway
(C) Broken Hill (III)  Trans-Siberian Railway
(D) Chicago (IV) Trans-Canadian Railway

Choose the correct answer from the options given below :
(1 A) =D, (B) - (1D, (C) - (IID), (D) - AV)
(2) (A)-ID, (B) - (AV), (C) - @), (D) - (D)
(3) (A)—-D, B) - @), (C) - 1V), (D) - (II)
(4) (A)- I, (B) - D), (C) - (IV), (D) - (D)

SPACE FOR ROUGH WORK / T% S o feTu S8
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11.

12.

13.

frfafiaa i &= 1 e T § o it 3R afted i
(A) S AT St arfurfees et

(B) Tf=rmT g1 Hiear uTeq

(C) WY HRA H =1 ooy

(D) IEMfET T il fafe Hiy

= fe e ferepedt # € wE S -
(1 (©), (D), (A). (B) 2) D), (©),(A), (B)
(3) (D). (C)(B), (A) 4 (), (D). (B). (A)

frefctRa ot SireRezrshTT ST HiSa o =IOl o AT Safeerd o :
(A) Fod1 S0 ST I e T HRT SEEAT gfg, efift Bt 2 |

(B) ISHIrar Sifereh Tad ©, Tifoh Hedal st & et ¢ |

(C) ISH-feTar dsit & Tl 7, oifeh Heddar efit-efit gt 2 |

(D) Tt St 3 et g & o hmen s gt effe 2t 2 )

et fow g forheat # @ wET ST -
(1) (A), (B), (C), (D) (2) (A), (©), (B), (D)
(3) (D), (B), (C), (A) 4) (D), (C), (B), (A)
FEft-1 1 FEA-11 o | firer i
-1 -1
(FE9TT) (IR-HETEIS T YT
(A) fem () SAefes ur-memRr e
(B) fafam (1) (e STt Y
(C) oA feat (1)  TR-ETge e {emmt
(D) f3rmmm (AV) YR-hAfeas mnt
=t fe e forepedt # € wE S -

(D (A) =@, (B) - (D), (C) - (1D, (D) - (IV)
(2) (A)-ID, (B) - (AV), (C) - (@), (D) - (D)
(3) (A) =D, B) - (@), (C) - (IV), (D) - (1)
(4) (A) - (D, (B) - (ID), (C) - (IV), (D) - (1)

SPACE FOR ROUGH WORK / T% &t % fotu g



313 EH/A (8)
14. Arrange the following copper mines in North to South direction :
(A) Alwar
(B) Bhilwara
(C) Khetri
(D) Udaipur
Choose the correct answer from the options given below :
(1) (B), (D), (), (A) 2 (©),B), (@A), D)
(3) (B),(C), (D), (A) 4 (), (A), (B), (D)

15. Arrange the agricultural development of India in chronological order from Independence to the present
day :
(A) Green Revolution
(B) Agro-Climatic Planning
(C) Intensive Agricultural District Programme
(D) National Mission for Sustainable Agriculture

Choose the correct answer from the options given below :

() (O, (A), (B), (D) ) (B), (C), (D), (A)
(3) (B), (A), (D), (C) @ (D), (A), (C), (B)
16. Match List-I with List-11I :
List-I List-II
(Energy Type) (Key Locations/Regions)
(A) Nuclear energy (I)  Gujarat and Rajasthan
(B) Wind energy (I)  West Coast of India
(C) Tidal energy (Ilf)  Tarapur
(D) Geothermal energy (IV) Manikaran

Choose the correct answer from the options given below :
(1 A) - @, (B) - I, (C) - (ID), (D) - AV)
(2) (A)-ID, (B) - (@), (C) - (ID), (D) - (IV)
(3) (A)—-ID, (B) - (AV), (C) - (@), (D) - (D)
4 (A) - 1D, (B) - (IV), (C) — (1), (D) — (I)
SPACE FOR ROUGH WORK / T% S o feTu S8




313 EH/A (9)
14. dfa it feferfad @ 1 3T @ gfaqor e & srafted 1
(A) A
(B) wietdrer
(C) wee
(D) AL
et fow o oot & & W ST -
(1) (B), (D), (O), (A) (2) (©), (B), (A), (D)
(3) (B), (C), (D), (A) @) (), (A), (B), (D)

15. ST § ST SIS ok WA o Y (T8 T BT (He: 3hH H afeerd o :
(A) =i shifd
(B) FHiv-Srerary A
(C) & &y e swrisen
(D) &ed i o fer Tedi forem

et fow g forheat # @ wET ST -
(1) (C), (A), (B), (D) (2) (B),(C), (D), (A)
(3) (B), (A), (D), (C) 4) (D), (A), (C), (B)
16.  FEt-1 31 -1 o 91 e i
-1 -1
(FTT ThTY) (ST EAT/81T)
(A) TR St (I) TSR 3R T
(B) W Hst (I) T a0 afft ae
(C) ar Sl (1) TR
(D) AT Fsit (IV)  HfoTsRToT
=t fe e forepedt # € wE S -

(D (A) =@, (B) - (D), (C) - (ID), (D) - (IV)
(2) (A)- ), (B) - (@), (C) - (D), (D) - (IV)
() (A)-ID, (B) - (IV), (C) - (1), (D) - ()
4) (A)-(D, (B)-(AV), (C) - (D), (D) - (1)

SPACE FOR ROUGH WORK / T% &t % fotu g
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17.  Which of the following statements are correct with respect to land degradation ?
(A) All degraded lands are wasteland.
(B) All degraded lands may not be wasteland, but unchecked process of development may lead the

conversion to wasteland.
(C) Land degradation is permanent or temporary decline in productive capacity of the land.
(D) Waterlogged, marshy areas and gullied lands are different types of degraded lands.
Choose the correct answer from the options given below :
(1) (A), (C) and (D) only (2) (A), (B) and (D) only
(3) (A), (B) and (C) only (4) (B), (C) and (D) only

18. Identify from the following the statement which is not correct about the Rhine waterways.
(1) Itis navigable for 700 km.
(2) It flows through a rich coalfield and the whole basin has become a prosperous manufacturing area.
(3) Ocean-going vessels can reach upto Cologne.

(4) It connects the industrial areas of Switzerland, France and Russia.

19. Arrange the following states in the descending order of their population density as per Census of India,

2011 :
(A) West Bengal (B) Uttar Pradesh
(C) Kerala (D) Tamil Nadu
Choose the correct answer from the options given below :
(1) (D), (A), (©), (B) ) (A),(C), (B), (D)
(3) (B),(A), (D), (C) @) (C),(B), (D), (A)
20. Match List-I with List-II :
List-1 List-11
(Type of Town) (Example)
(A) Industrial ()  Mhow
(B) Commercial (II)  Katni
(C) Transport (IIl)  Satna
(D)  Garrison (IV) Modinagar

Choose the correct answer from the options given below :
(1 (A)-1V), (B)—(ID), (C) — (D), (D) — (D) 2 (A)-®D), B)-d0), (C) - 1D, (D) - (1IV)
3) (A) =@, (B)-1D), (C) - 1V), (D) - (1) (4) (A)— (D), (B) - AV), (C) - (1), (D) - (I)

SPACE FOR ROUGH WORK / T% S o feTu S8
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17.

18.

19.

20.

W1-forefiertor 3 werer # frefoifiaa & @ -8 o i € 2

(A) wft e ife syfirrt ref fir €

(B) Tt foe =ife sifiwrt =ref ifty et €, <ifor foraprr <t sfereifora ifvren & o =ref ifiy  witarfda & werclt 2
(C) -Frrfieron, iy i Seaaeh &rereT & Tl a7 STeumft fitee 2 |

(D) STATShHd, TG & TR AThfieh Tes fafT wehm i frfiena fir 2 |

=t fag g forepeat # & wE S T -
(1) s (A), (C) 3R (D) (2) A (A), (B) 3R (D)
(3) A (A), (B) 3R (C) (4) %3 (B), (C) 3R (D)

T3 STt o i & freferfad § & 36 o i veae S we TE R |

(1) =700 fFd. & fow =g |

(2) T U TG HIIAT & W EIoRL Tied el & I ol sifet ush wgg; ferfmior e s € |
(3) WP 9Id FIAH T T5d e ¢ |

(4) % Ragsicle, i it &6 & i &= ol shear g |

TR ST SFRTUMT, 2011 3 S8R FrfRad T sl 3ok SHEEAT e o ST 3hH § Safeerd & ;

(A) ufEm sme (B) ST YT
(C) (D) dfierTg
et o e oo & € weT ST |
(1) (D), (A), (©C), (B) (2) (A),(C),(B), (D)
(3) (B), (A), (D), (C) 4) (C), (B), (D), (A)
-1 1 Ft-11 o @1 fiere shiferg :
Teit-1 Teit-11
(TR hT ThR) (STE0)
(A) SR O "
(B) afurfsash 1) Het
(C) ulEsd (1) GaT
(D) BT (IV) HER
et fo T foreped & € Wt ST

(D (A)=(V), (B) -1, (O) D, D)@  2) (A)- (@, (B) -, (C) - (D), (D) - (IV)
3) (A) =D, B) -1, (C) - (1V), (D) - (1) @ (A -1, (B) = (IV), (C) — (), (D) — (IT)

SPACE FOR ROUGH WORK / T% &t % fotu g
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21.

22,

23.

Identify from the following, the correct statements with reference to the metropolis.
(A) It is often the chief centre or seat of some form of activity.

(B) It could be administrative, commercial or industrial centre.

(C) It generally serves a small hinterland.

(D) Itis avery large city or agglomeration of population.

Choose the correct answer from the options given below :

(1) (A), (B)and (D) only (2) (A), (C) and (D) only

(3) (A), (B)and (C) only (4) (B), (C) and (D) only

Match List-I with List-II :

List-I List-1I
(Economic Activity) (Example)
(A) Quaternary (D Manufacturing
(B) Secondary (I)  Mining
(C) Tertiary (III)  Taxi services
(D) Primary (IV) Research scientist

Choose the correct answer from the options given below :
(1 A =@, (B) - (1D, (C) - (III), (D) — AV)
2) (A) =@, (B) -, (C) - (ID), (D) - (IV)
() (A)-(AV), (B) = (1), (C) - (D), (D) — (1)
(4) (A)-(ID), (B) - (AV), (C) - (1), (D) — (IT)

Identify from the following, the correct statements with reference to oil refineries in India.
(A) Digboi is an example of market-based oil refinery.

(B) Tatipaka Oil Refinery is located in Andhra Pradesh.

(C) Numaligarh Oil Refinery is located in north-east India.

(D) Bina Oil Refinery is located in Madhya Pradesh.

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A), (B)and (C) only

(3) (A), (C)and (D) only (4) (B), (C) and (D) only

SPACE FOR ROUGH WORK / T% S o feTu S8
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21.

22,

23.

HEWTR % G # frefaftaa o @ we shomt i veam L |
(A) =% T foreft wehme ot mifarfafer 1 e e ar s AT € |
(B) IE NI, STIOTTSTeh 91 STIlfieh ohg & gehd 2 |
(C) I AR T Tk B I8 YT hl HaT TS LT ¢ |
(D) IE T S5 SIS e AT SIHEEAT H1 FHEHT BT 2 |

=t fag e forepeat # & W& S T -
(1) e (A), (B) 3R (D) (2) A (A), (C) (D)
(3) e (A), (B) 3R (C) (4) 9 (B), (C) 3R (D)
-1 1 Ft-11 o @1 fiere shiferg :
a1 TE-11
(amTfeier fomam) (3=TE)
(A) =qd 1  fafmwior
(B) fedrren 1) @
(€) TdrH (1) Soeft Famd
(D) rften (IV) STEYM 39Te
et fow T forspedi H € wel SR A

(1 (A)-@), B)- D), (C) - (1), (D) - (IV)

(2) (A)-@), (B) - (I, (C) - (), (D) - (IV)

(3) (A)-AV), (B)— (1), (C)— (), (D) — (I)

4 (A) -1, (B) = (1IV), (C) — (1), (D) — (I)

I | A SN @i o g o fferfiaa § & wet et it vgem o |
(A) TETTEE STSTR-STENTd det INe SFR@H T Ush 3SR |

(B) dTcTITERT et IME ShR@HT 37T TS A e 7 |

(C) JATCHNTE At e HIETT FATeR R o 2 |

(D) T deT Se e Hed Yewr H R ® |

=t fa e ferepeat # € W& S -
(1) s (A), (B) 3R (D) (2) A (A), (B) 3 (C)
(3) A (A), (C) 3R (D) (4) % (B), (C) 3R (D)

SPACE FOR ROUGH WORK / T% &t % fotu g



313 EH/A (14)
24, Identify from the following, the correct statements about transportation in India.
(A) Atal Tunnel passes through Pir Panjal Range.
(B) About 80% Indian Railway track is of metre gauge.
(C) The Inland Waterways Authority was set up in 1986.
(D) Konkan Railway connects Roha in Karnataka to Mangalore in Kerala.
Choose the correct answer from the options given below :
(1) (A), (B)and (C) only
(2) (A) and (C) only
(3) (A) and (B) only
(4) (B), (C) and (D) only

Read the given passage carefully and answer the five questions that follow.

Cottage industry is the smallest manufacturing unit. The artisans use local raw materials and simple tools to
produce everyday goods in their homes with the help of their family members or part-time labour. Finished
products may be for consumption in the same household or for sale in local (village) markets. Capital and
transportation do not wield much influence as this type of manufacturing has low commercial significance and
most of the tools are devised locally. Some common everyday products produced in this sector of manufacturing
include foodstuff, fabrics, mats, containers, tools, furniture, shoes and figurines of wood from the forest, shoes,
thongs and other articles from leather, pottery and bricks from clays and stones. Goldsmiths make jewellery of
gold, silver and bronze. Some artefacts and crafts are made out of bamboo and wood obtained locally from the

forests.

Small scale manufacturing is distinguished from household industries by its production techniques and place of
manufacture (a workshop outside the home/cottage of the producer). This type of manufacturing uses local raw
materials, simple power-driven machines and semi-skilled labour. It provides employment and raises local
purchasing power. Therefore, countries like India, China, Indonesia and Brazil, etc. have developed
labour-intensive small scale manufacturing in order to provide employment to their population.

Large scale manufacturing involves a large market, various raw materials, enormous energy, specialised
workers, advanced technology, assembly-line mass production and large capital. This kind of manufacturing
developed in the last 200 years, in the United Kingdom, Northeastern USA and Europe. Now it has diffused

almost all over the world.
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24. 9T 3 UREE AR & PrefaRad § 9 et et i oeae |
(A) 3T GT IR ISt (o1 & Bt Torell 2 |
(B) THTSHT 80 TSI W TT Letd ¢ HA IS R |
(C) A :TAT STt ITFereRToT st TTIAT 1986 | I 118 oft |
(D) hIhvT {eTd Sh1eeh o UBT bl it o BTN H SHSAT & |
=t fag e forepeat # & W& S T -
(1) e (A), (B) 3R (C)
(2) e (A) 3 (C)
(3) e (A) 3 (B)
(4) e (B), (C) 31 (D)

fou o ufiee &t £aT A U 3 3Heh TR AT STl Ui T2 o 3w S |

R IR 0T 6 Tl BT TS © | THH RICTRR T Frool AT T STAN A & Td AT HISR S GHAR 6
aft T fircTeRt I STRT-shifersh wifieht Y TETrdT & 31O 2R Sfta 3 ITRT Y et T IUTE R © | IR AT
1 AT AV o TRl ITHNT L & AT SHh! T (T TSR A Tofshey T 2 8 | it 3 aiNae 7 6 o o I
SATET THTE T & HAiToh §Toh ST HIHA AT T AT He FH BT & T AR SIS TAHT T § IR U
ST & | Fomior o 38 & 8 Seatied 9 AT U o Sedal § e gard, 9, T, e, ST, FHTeR, S 31
ST & SRS i -, S, 97 (thongs) TR = & ffHfa o=, firgh o st ofi firgh ofR e & ol €2
A & | GR A, AT 3R HIET 6 ST S © | Fw5 e i eqe aie ST S S 8 T Aher 8 518
STt 2 1

BIC IAT o ITNT T FER (TEE) JeNT H ST THehT I qehrf[ohT ST FHHTOT FIA (TG o B H ST H@HT)
HTIR O T ST 8 | 36 YR o 10T § ST el AT, ATROT SHoTl-HTierd Hei 371 T5-F=1e Hwehi 1
SRINT feRaT STTAT & | 3 ST USHIR Je ohid © AR weriar et it sk oifth sera € | gafere, i, =i, Semfm
IR STSIIET ST QT ST SHEAT BT USHTR SUTSY FAT o TTT 36 TehI o HT-He BI G0 o 32T IRy fohu & |

g YA o I o T foremrer aTsiw, fofie=T Terr o el AT, STcaieren 1ih o @Te, e 2Hiveh, faenfia Srenfen,
3fereh IeuTe Tel HAfereh Uil 2hl Tarzrehar gicl € | fset 200 1 H IATSIES fohrem, Ugwh TS STHIEHT oh ITL-qalt AT
HIT I H et forshrer 371 € | AT | gereht foream o o e |t siem A g € |
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25. The small scale manufacturing and the cottage manufacturing are distinguished on the basis of
Fill in the blank with the correct option.
(1) raw materials
(2) quantity of production
(3) production techniques

(4) scale of profits

26. Which one of the following is not a feature of small scale manufacturing ?
(1) It engages semi-skilled labour force.
(2) It provides employment and raises local purchasing power.
(3) The artisans produce goods in their homes with the help of their family members or part-time labour.

(4) It is labour intensive manufacturing.

27. From the following, identify the feature of the cottage industry :
(1) Use of advanced technology
(2) Specialized workers
(3) Finished products may be for consumption in the same household

(4) Mass production

28. Large scale manufacturing is not

Fill in the blank with the correct option.
(1) capital intensive

(2) energy intensive

(3) technology intensive

(4) labour intensive

29.  Which of the following is not a product of cottage industry ?
(1) Mat
(2) Shoes
(3) Car
(4) Basket
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25. B IAM o UM TN F2R AT b o ST T 3T R ST 2 |
T T =l W oo & oK |
(1) =T
(2) TG sl HEAT
(3) ScTE qehHteh
(4) <™ F I

26. Ffafaa § & we-d 31 30 & e A fomvar 78 2 2
(1) o T-FHTeT Afoeh e hid & |
(2) T USHIR YST LT & ST TR 563 ITh <l ST ¢ |
(3) HRNR o TRER o GET AT ST 2T bl 7HeE § ST BRI H STEHT T IcIE Fd ¢ |
(4) T om yue fafmior g |

27.  Ffafad #§ & & sem i forvar i ve=m |
(1) T drnfireht s6r s
(2) =1 Aferh
(3) IR Icare It o T U 3 forg B @
(4) AT 3care

28. =g I w fafamior TR
T T o1 T forehed € 9T
(1) Gl
(2) St Ted
(3) Yrenfieht T
(4) WA

29.  freforiad & & -8 FERX INT 1 3eame T 2 2
(1) ==
2) 3
(3) *R
(4) TRl
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Read the given passage carefully and answer the five questions that follow.

Jhabua district is located in the westernmost agro-climatic zone in Madhya Pradesh. It is, in fact, one of the
five most backward districts of the country. It is characterised by a high concentration of tribal population
(mostly Bhils). The people suffer due to poverty which has been accentuated by the high rate of resource
degradation, both forest and land. The Watershed Management Programmes funded by both the ministries
of “Rural Development” and “Agriculture”, Government of India, have been successfully implemented in
Jhabua district which has gone a long way in preventing land degradation and improving soil quality.
Watershed Management Programmes acknowledge the linkage between land, water and vegetation and
attempt to improve livelihoods of people through natural resource management and community
participation. In the past five years, the programmes funded by the Ministry of Rural Development alone
(implemented by Rajiv Gandhi Mission for Watershed Management) have treated 20 percent of the total
area under Jhabua district. The Petlawad block of Jhabua is located in the northernmost part of the district
and represents an interesting and successful case of Government-NGO partnership and community
participation in managing watershed programmes. The Bhils in Petlawad block, for example, (Sat Rundi
hamlet of Karravat village) through their own efforts, have revitalized large parts of Common Property
Resources (CPR). Each household planted and maintained one tree on the common property. They also have
planted fodder grass on the pasture land and adopted social-fencing of these lands for at least two years.
Even after that, they say, there would be no open grazing on these lands, but stall feeding of cattle, and they
are thus confident that the pastures they have developed would sustain their cattle in future. An interesting
aspect of this experience is that before the community embarked upon the process of management of the
pasture, there was encroachment on this land by a villager from an adjoining village. The villagers called the
Tehsildar to ascertain the rights on the common land. The ensuing conflict was tackled by the villagers by
offering to make the defaulter encroaching on the CPR, a member of their user group and sharing the

benefits of greening the common lands/pastures.
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fou o ufiee &t &9 | UE 3T SHeh 3TRT AT STel Ui T2t o ST S |

T e e wawt & Af afieht Hi-Sieremy & H feerd 2 | A7 areaa & 391 % O g s e § @
T | SHSITRT SHEEAT (SATETAX WieT) it 3o digdT gaehl forivdT & | ST TRiel o T ¥ 3d © § 31K I8 T
STt 31 +fer AT STt 3 Ioet X § TteRtoT o ST Yeford 81 S § | WG TR & <areior forshrer i s
TEATCT ST & H TR SICTE T Yee ShrshHi shi ST fofel § SheraTqeieh ] foha 7T 2, fore sy ameor
=l el ST THET 6T TUTarT § GIR T H T T THL A FoRAT © | STTROT Jefe hrishd i, STt ST aeafd
o offer weter 1 TefiehR & TR TeHfereh SaTe et TR AreTiics Seiiar o HTea & @ oht SATStoet §
U A 1 A R & | et ot ot §, stehet wmeior fererer warerr g form iftya shrseat (st et e
o6 STCTHRYT Feie ST hraii-ard) § He3T et 3 ded et &1 o 20 FIIRIT o1 IR FoRAT § | ST T TS
we ot % 31fr STt 9nT H R 3 ST ST i o Tefe § Thnt TR -G et Y ATeERy 3R
HIRTRI AR T Uk Hohet ST Jeish SehU0T SR LT © | 3RTeT0T o fofu, Ueetrare WS (FRiEe e i &
&1 T % o ST STt & forq i o aet woer S (SeTR) i st o @ | T afEn T
TS HOET 0 Tk UG TR A S ST foham | S =Inire S{fH aT <y o off TTs SR FH-8-o6H o1 aui doh
3 feit i ArTTTeR- ST R 1O R | 36k oTE oft, 3 shedt , 3 et o R geft = e St of agredt
T 3R qfd & forw e T ST 31 36 TR I forame B fop 3 S = forefia fore 8 3 wiorr & 37
UYTSAT T WA GINOT S T | §H STIHE hT U foet<red Uee] J% © Toh UHer §RI =RAMe o Yefe i ufshar 3&
T Y TR, UTE o TTTe o Ueh FTHIOT SR 3 1 0 SAfrshmvr foram o | Jmeiot 4 deeierer shi e 1 ansft
ST T ST AR i G e | 39 Srgadt ged e ATt gr gergmn w e e e et
=TE fH W SATAHATT A FTeT AT 3l ST TAIHN GHE HT W SHIR I @TE <A A A ghared &

ATHIRT ST 3T fomam |
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30. Petlawad block of Jhabua is located in which part of the district ?
(1) Southernmost
(2) Westernmost
(3) Northernmost

(4) Easternmost

31.  Which tribal community has high concentration in the district of Jhabua ?
(1) Bhils
(2) Munda
(3) Santhal
(4) Meena

32. The Watershed Management Programmes, which have been successfully implemented in Jhabua

were funded by

Fill in the blank with the correct option.

(1) Ministry of Tourism

(2) Ministries of Rural Development and Agriculture
(3) Ministry of Road Transport and Highways

(4) Ministry of Tribal Affairs

33.  Which among the following was not used by Bhils to revitalise Common Property Resources ?
(1) Plantation of fodder grass
(2) Plantation of trees
(3) Open grazing
(4) Social-fencing

34. Jhabua district is located in which agro-climatic zone of Madhya Pradesh ?
(1) Northernmost
(2) Southernmost
(3) Easternmost

(4) Westernmost
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30.

31.

32,

33.

34.

ST 1 UTATaTS ES et o ot foedt o oo 2 2
(1) e gfeoft

(2) At afedft

(3) A T

@) 3 gat

FAT ot 7 oy STTaTelt Tvjerer i et 31freh € 2
(1) e
2) et
(3) "
(4) wom

ST H AHAATIA TN [ohT 1T STCTE T Y€ SHrshui bl o BT Ferio fofa Tmam o |
Tk T ot O farehew & W |

(1) e T

(2) T foreRTe STR i e

(3) weH UNEET R TSR HATer

(4) SFSITAT HTHSAT T WA

freferfiaa o & foreert SwRITT il ST wTett Waftr SETem shi qAstiond i o foTq 7@ fora i o1 2
(1) =TT T T 90T

(2) et T Ty

(3) gefr=s

(4) GTHTITeR-EITET

FeaT ST T waw o forer fy-sretamy & § R 212
(1) e

(2) At gfeoft

(3) Al g

(4) et afedft
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35.

36.

37.

38.

39.

40.

41.

42,

Who, of the following, defined Human Geography as “Conception resulting from a more synthetic
knowledge of the physical laws governing our earth and of the relations between the living beings which
inhabit it” ?

(1) Ratzel (2) Blache

(3) Taylor (4) Semple

““Geography is the study of human beings and environment where nature is supreme that dictates the

lifestyle of human beings.”” Identify the geographical approach referred to in this statement from the

following.
(1) Possibilism (2) Environmental Determinism
(3) Behaviouralism (4) Humanism

Which of the following geographers described the ‘state/country’ as a ‘living organism’ ?
(1) French (2) German
(3) Australian (4) Indian

Which of the following country’s population does not have triangular shaped age-sex pyramid ?
(1) Australia (2) Bangladesh
(3) Nigeria (4) Mexico

Which of the following approaches was initially proposed by the International Labour Organization ?
(1) Basic needs approach (2) Income approach

(3) Capability approach (4) Welfare approach

Which of the following is not one of the pillars of Human Development ?
(1) Equity (2) Affordability
(3) Sustainability (4) Empowerment

In which country is milk transported from farms to factories through pipelines ?
(1) India (2) New Zealand
(3) Canada (4) Mexico

What is the pattern of settlement that develops around a lake ?
(1) Rectangular pattern (2) Linear pattern
(3) T-shaped pattern (4) Circular pattern
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35.

36.

37.

38.

39.

40.

41.

42.
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3 1 FrfarRaa # @ 5@ e § fafde ofimifores gfewior i qemmr 6t |
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(3) TIERAE (4) THIAETE

freferfiaa & & for spTictomet 4 <Tsa/aRr i <sfifed sita” o &9 7 fvid R e 2

(1) %= (2) SHR

(3) siegforar (4) Wt
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(3) ssfifen (4) ufFEent

frforfiaa o & fopg SUTTH 1 qot w9 & SIS 2 Ee g SR fepe o 2
(1) STTURVT HTERIHAT SATH (2) A IUIH

(3) &ITAT ST (4) T YT
FrraferRaa & & s-a1 A forshre o & | @ U TET R 2

(1) Fwar (2) T

(3) waq-drofie (4) FEIRFERT

foer <31 9 g4 hi UTSUeITEHT o HIEHH U GH! § I deh Tg =TT STl € 2

(1) wrd (2) =sfiete
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(1) STEATHR gfaET ) e ufoeq
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43.

44,

45.

46.

47.

48.

49.

50.

Which of the following is not a push factor for the migration of the rural population in India ?
(1) High population pressure on the land

(2) Availability of regular work

(3) Lack of basic infrastructural facilities like health care, education, etc

(4) Local conflicts

When and by whom was the first Human Development Report published ?
(1) WHO in 1992 (2) UNDRP in 1992
(3) WHO in 1991 (4) UNDP in 1990

Among the following, which was the least populated state in 2011 ?
(1) Haryana (2) Tripura
(3) Jharkhand (4) Sikkim

Which of the following States registered the highest population growth rate during 2001 — 2011 ?

(1) Karnataka (2) Tamil Nadu
(3) Rajasthan (4) Maharashtra
Dhani is an example of type of rural settlements.

Fill in the blank with the correct option.
(1) Hamleted (2) Dispersed
(3) Semi-clustered (4) Clustered

Which of the following towns developed as a satellite town ?
(1) Rohtak (2) Sindri (3) Dispur (4) Mhow

is an example of ancient towns in India.

Fill in the blank with the correct option.
(1) Madurai (2) Hyderabad (3) Kolkata (4) Delhi

‘Boro’, ‘Aman’ and ‘Aus’ are

Fill in the blank with the correct option.

(1) tribes which are found in the north-eastern part of India
(2) types of folk dance

(3) names of rice crops

(4) types of cotton crop
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43.

44,

45.

46.

47.

48.

49.

50.
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